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[ ik ] B [
B T - R Sy
9:00~12:00 | 13:00~17:00 | 18:00~22:00
R—L 4,190 5, 230 5, 230
DHE 1, 250 1, 670 1,670
O EE 730 940 940
N T AllfE=E 1, 360 1, 780 1, 780
=S 1, 250 1,670 1,670
ARER S = 2,610 3, 560 3, 560
G ERAHE == 1, 360 1, 780 1, 780
THMAHME =R 1 X 2, 090 2,090 2,090
WHE= A 3, 560 4, 400 4, 400
WHE=E B 1, 250 1, 780 1, 780
N T WHE=E C 940 1, 250 1, 250
FE= 2,820 3, 870 3, 870
RITE 2,610 3, 560 3, 560
=S 1,670 2, 300 2, 300
DHEA 730 970 970
NHEEB 730 970 970
AT N AR HE=E A 380 500 500
WHE=E B 380 500 500
WHE=E C 240 320 320
Z HINEA 410 520 520
B A %2 HINEDB 410 520 520
ZHIMEC 410 520 520
R EE 410 520 520
DR 940 1, 150 1, 150
EET AR A RAR
T B A AR WHE= 730 940 940
i@gﬁgéﬁ ek 1,040 1,360 1, 360
=S 620 730 730
Rz 1, 780 2, 300 2, 300
DHE 940 1, 250 1, 250
R EE 730 940 940
(5 GRE/N =) FE= 1, 250 1,570 1,570
=S 620 830 830
=y 1H 1,040
PP AEE 1 730
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[ A2tk ] BN [
§i4, Wik - Bl A KAL)
9:00~12:00 13:00~17:00 | 18:00~22:00
AL 1, 250 1,570 1, 570
FHELER 1, 670 2, 200 2, 200
DB 2 2, 090 2,720 2,720
P ] 3, 350 4, 400 4, 400
245D 1 1 2, 090 2, 720 2, 720
/NN B By 1, 250 1, 570 1,570
ISR 2 830 1, 040 1, 040
/NS 3 620 830 830
ARAEE=E 1, 670 2, 200 2,200
AR 3 1, 250 1,570 1, 570
HE=E 830 1, 040 1,040
ATk 2 AR DHEEE (—=EY0) 310 310 310
55 1 R 620 830 830
N P Al 1, 250 1,570 1,570
2450 11 620 830 830
P 620 830 830
I EE 620 830 830
NHEE 1 620 830 830
AT B EE A RAR REFRE 2 620 830 830
/N 620 830 830
ARE S = 620 830 830
EETTTARHE A AR
BT 2 EAR BREE (—ENYZY) 310 310 310
LT ST AN RAR
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[FI3= - FiR - 28 - RRHUK] HAL M
$i4 i - Rl RAGI)
9:00~12:00 | 13:00~17:00 | 18:00~22:00

KA—/L 6, 280 7, 330 7,330

%1 HE= 830 1, 040 1, 040

% 2 WHE = 830 1, 040 1, 040

1S 830 1, 040 1, 040

2 k= 830 1, 040 1, 040

51 /hEEE 390 520 520

2 /NREE 260 350 350

=1 410 520 520
BT S AR

= 2 410 520 520

51 = 830 1, 040 1, 040

KRILH (Fn=s) 55 2 = 830 1, 040 1, 040

55 3 = 830 1, 040 1, 040

BREL 1, 570 2,090 2, 090

BlfE=E 830 1, 040 1, 040

R 830 1, 040 1, 040

R 1,570 2, 090 2, 090

%1 HE= 410 520 520

5 2 HE= 410 520 520

AT BN AR 51 amE (i) 410 520 520

2= (=) 410 520 520

(st 1, 250 1, 570 1, 570

R—L 830 1, 040 1, 040

%1 HE= 410 520 520

5 2 HE= 410 520 520

AT E s mARAR 51 amE (i) 410 520 520

02 = (=) 410 520 520

%3 m=E (Fi=) 410 520 520

BHEHE 1, 250 1,570 1,570

TSR A AR = 1, 570 2,090 2,090
FETTRR AN AR

%¢$$£%%f£%§ DHE 410 520 520

T E AR BAH
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EE 620 830 830
VT 2 LA AR e 620 830 830
(IFHE T 8 23 ) IES 940 1,250 1, 250
FeE= 940 1, 250 1, 250
P 1, 250 1,670 1,670
ESIE 940 1, 250 1, 250
TFE= 940 1, 250 1, 250
HHE= 1 1, 880 2,510 2,510
WHE=E 2 1, 250 1,670 1, 670
AT 22 N RAE
HHE=E 3 940 1, 250 1, 250
NN 2,510 3, 350 3, 350
=1 940 1, 250 1, 250
e 2 940 1, 250 1, 250
% HIfyAR—L 2,510 3, 350 3, 350
WHE=E 1 620 830 830
HET LA N R W& 2 620 830 830
BETTA EARAR -
BT 22N AR ATEFEE = 940 1, 250 1, 250
% HIfyAR—L 1, 880 2,510 2,510
DHE 620 830 830
AT A A RAR B 940 1, 250 1, 250
R EE 1, 880 2,510 2,510
[& R Hik] Bz [
B4, Wiy - SRR IRFFH X 43
9:00~12:00 13:00~17:00 | 18:00~22:00
DR 1,570 2, 090 2, 090
AT A BN ReAE hEigE (=) 830 1, 040 1, 040
HE = 1, 250 1,570 1, 570
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—& - |l - Eisu] B [
2 i - Wi Ll
9:00~12:00 13:00~17:00 | 18:00~22:00

KAHE =S 1,570 2, 090 2, 090

HE TR A RAR WHEE - g (=) 830 1, 040 1, 040

AR S 1, 250 1,570 1,570

HE= 1,570 2, 090 2, 090

AT A AR FE = 1, 250 1, 570 1,570

I 830 1, 040 1, 040

By 830 1, 040 1, 040

. HE= 1,570 2, 090 2, 090
AIA A REE

FeE= 1, 250 1,570 1, 570

I 830 1, 040 1, 040

AN 5, 230 5, 230 8, 380

ik 1 2,090 2,090 3, 140

T 5 A A R 2 2, 090 2,090 3, 140

HHE= A 1, 040 1, 040 1, 040

FE=E1 2, 090 2, 090 3, 140

I 2, 090 2, 090 3, 140

I N 830 1, 040 1, 040

AT LA RAR S 830 1, 040 1, 040

I 830 1, 040 1, 040

%2 IR — 3, 140 3, 140 3, 660

HE= 2, 090 2, 090 2,610

AT TR RA D= 1, 040 1, 040 1, 300

I 1, 040 1, 040 1, 300

FeE= 1, 040 1, 040 1, 300

%2 IR —L 2,090 2,090 2,610

TSN RA WHE=R (fi=) 1, 040 1, 040 1, 300

ATEFEE = 1, 040 1, 040 1, 300

%2 IR —L 2,090 2,090 2,610

A A RAR = 1, 040 1, 040 1, 300

ATEFEE = 1, 040 1, 040 1, 300

%2 IR —L 2,090 2,090 2,610

BTTR = ARAE HE= (Fn=) 1, 040 1, 040 1, 300

ATEFEE = 1, 040 1, 040 1, 300

%2 BHIR—L 2, 090 2, 090 2,610

N D 1, 040 1, 040 1, 300

I 1, 040 1, 040 1, 300

FeE= 1, 040 1, 040 1, 300
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% HIfyAR—L 2,090 2, 090 2,610
BTN > I RAE WHE= (Fn=) 1, 040 1, 040 1, 300
AT SRR 1, 040 1, 040 1, 300
R EREAR R 2 1,670 2, 200 3, 140
kR = 620 940 1, 250
DARE E 620 940 1,570
AT IR A BRAR SNHVEE =R 1,670 2, 200 3,140
ARE S = 940 1, 250 1,570
= 940 1, 250 1,570
e 1,670 2, 200 3, 140
. = 410 620 940
A\ A RAR »
PR 940 1, 250 1,570
Eg 1,670 2, 200 3, 140
‘ IR 1, 150 1,570 2, 400
T RER AN R
E=S 620 940 1, 250
Z B AR — 1, 670 2, 200 3, 140
HE= 1,670 2, 200 3, 140
HET N RAE FEL =R 940 1, 250 1,570
E=S 620 940 1, 250
DHE 1, 670 2, 200 3, 140
eI AN /N N 1, 150 1, 570 2,400
=S 410 620 940
HE = 1,670 2, 200 3, 140
4 25 A A A ?@é% 1,670 2, 200 3, 140
PR 940 1, 250 1,570
THAR = 620 940 1, 250
FE= 1, 670 2, 200 3, 140
DHE 1, 150 1,570 2, 400
AR 2N REE
IE=S 620 940 1, 250
PR 940 1, 250 1,570
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